YOSHIMURA ROUND EXHAUST SYSTEM YOS URA
YAMAHA 135LC / X1R STREET SPORTS EE—JQSH"MU@/\

Stainless Sleeve : 180-303-5K50
Titanium Sleeve : 180-303-5K80
Carbon Sleeve : 180-303-5K90

Silencer Band for Stainless & Titanium Sleeve; 162-303-7500
Silencer Band for Carbon Sleeve; 162-303-4300

Flange Nut M8
823-008-1250

Silencer Assy

Stainless Sleeve 186-303-5K50
Titanium Sleeve 186-303-5K80
Caebon Sleeve 186-303-5K90

Lot Number

@, \
Washer M8x20
812-108-2000

Cap BoltM8x40
800-208-5040

Exhaust Pipe
181-303-5101

Exhaust Spring
118-001-0000

Washer M8x26

Cap Bolt M8x15  812-108-2600
800-208-5015



